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Instructions :

1. Rt famereht miftdt gars e W,

Fill in every information asked for.

2. wd yg diean.
Attempt all questions.

3. I Ty At Sra e foE,

Write explanation in the blank space below each question.

4. A HIETR T AT feeredt ST ST, A
Use the blank space provided below each questions for rough work.

5. T g e I T e e ST T e 3l @l
TGS R THATR 1 T FHHAIHEE foTere.

_ . _ _ Y. HATH T
If you want to rewrite the solution of a question cancelling the
original, write it on the last blank page. !
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Q1 3@ ABCD 2 %1 fig O wed ¥qam. o DB = fig E o iR,  mZABE = 143°® 4
£DOC = 919 3.

Diagonals of a rectangle ABCD intersect at point O. On the ray DB, point E is such
that m ZABE = 1439, Find the measure of 2DOC.

Rough Work. /&= %m



Q2 SO =U. Add. 035 + 0.472 ' : | 4

Rough Work /&= =™




Q3 728, 7.2 & S 10.2 &5l sreom=Rn ST T FHR W e 900 318,
%Wﬁmwmqmwwm? :

The sides of a triangle are 7.2 cm, 7.2 cm and 10.2 cm. Without drawing the

figure, how will you convince your friend that measure of one of its angles is
nearly 900.

.——-—__.._____..—-__——_-_—_._.——__—___——____———--——.——-—_m__-__—.__m

Rough Work /&= %m



Q4 CJABCD @iy 37%F @ AB L 1@ BD. WX AB =8 &71fd1 AC = 34 & BD #wl. 5
[JABCD is a parallelogram. Find BD, if AB = 8, AC = 34 and seg AB . seg BD.

Rough Work /#=1 ™



Q.5 Prord T i T ade Fel. F HUTH 9 g G I1 ageT gaH ATHA Safiiad 5
.

Draw a circle of any convenient radius. Construct, with the help of compass and
ruler only, a regular octagon inscribed in the circle. '

__.___.._—_—_.——_—___—_._—..__———_———--———-.———_.———-—--——-—————-_.—

Rough Work /&= &M



Q.6  @i=al. Solve. 25+2% | 9% _ 9056 |

Rough Work /#=1 1



Q7 A ¥z 0 SR ageE W@ AE ¥ W 397 1@ AB #1i1 W@ BC & 5
Sffen SR,

W AD L W@ BC. TYRl(AB)=’1.2,l(BD)=6,l(CE)=8,'<T{
C gdwreh s @ |

= In the figure, seg AE is a diameter of a circle with center 0 and
& seg AB and seg BC are chords. seg AD L seg BC. IfI (AB)=12,
E

[ (BD) = 6, I (CE) = 8, find the radius of the circle.

Rough. Work /&= ™



Q8 TH GEA TRSTIHATAT THISATS Teh SIS ATHTIOAT YT Gehitehieft 1080 HTqTI 1 Femd, 0 =01
Srften et TSy amRa?

The lines containing alternate sides of a regular polygon intersect each other at an
angle of 108%. What is the number of sides of the polygon?

Rough Work /= =m

4



Q9 THFW I, & MM F IFH 8, 16‘mz4mwww.w%ﬁ3wmg@ 5
¥, T | A U1 Broe o feer@ & ATl 1 feaw ameft & %W |rgd e CER PR
33, 0 3 o Pl Ferar o e ?
A, B and C can complete a work in 8, 16 and 24 days respectively. They together
started the work. But Cleft the work 2 days before completion and B left the work 1

day before completion. So A alone completed it. Find the number of days required to
complete the work.

— — e — — — — —
.—_——_—-—-_—_——-—.—-.—-—_—-—_—_—_——-—-.—_—————-—.——_—_—.—-—_— o e



1 .
Q.10 R xZ-4x+1=0 @ x° +— =t i @,
X

1
Find the value of x5 + — if x2 - 4x+1=0
”

Rough Work /&= %1



Q.11 311471 x 435472 = 135636* 99312 I1 UNHRTIE XX AT SIH{T SHIVET 37 MR 7 6
Find the digit in place of ¥X in the product 311471 X 435472 = 135636* 99312

Rough Work /&= &m™



Q12 66556655 ...ooneoe- 5566 & T

1998 3 TEm IR, M e 1331 Y WRTEATER AU 6

66556655 ......... 5566 is a 1998 digit number. Find the quotient and remainder if the
number is divided by 1331. Find also the number of digits in the quotient.

——_—-————-—_.—-——_————_—

—_———_—_———-——-_—-—-—_—-——-_—-—.———————_____._



Q.13 86037 a1 T TH H ihl TE WIS FewT AT SR ITIA 312, 383 F 1 BT, T 9
TSI 3T WA <hIvTd B, § Shiel.

When 86037 was divided by a three digit number, the successive remainders were
312, 383 and 1 respectively. What was the divisor and the quotient?

Rough. Work /&=t &M



Q14 = 18 S e T e I TR, @ i, 5 6 A onfn w3 def wwp@ @ 7
STt st ferdt o Tresfaran It ? _ '

The side of a wooden cube is 18 cm. If some cubes of side 5 cm and some cubes of side
3 cm are to be obtained by cutting the cube, what would be the maximum number of
cubes?

Rough Work /&= wE



Q.15 I S0 1oowmmmmwm,méﬂqwmsﬁm.mw 9
e,

Find the largest possible product of three prime numbers whose sum is 100.

Rough Work /&= &m



fodrea s, AABC =41 9 10, 10 3A1fir 16 371 fig B,
C, R; fig C, A, P anifin fig A, B, Q Tt 3Ted. T
i sa mRd e wu S APQR = &% Fal.
In the figure, sides of AABC are 10, 10 and 16. Points B,

C, R; points C, A, P and points A, B, Q are collinear.
Observe additional information shown in the figure and

find the area of APQR.

Rough Work /&= %™



Q.17 M A D e qoTHERe STe S SeR G S st 8
X B E mmmmm.mamwwmsﬁa@
M A D 3 s o,
R A E —__ Inthe given multiplication sum, the same letters are used
A M 1 D  for the same digits and different letters for different digits.

Find the digits in places of letters and write the sum.

Rough Work /&= =™
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